ECE 300

Spring. Sjamenster_,lﬂ\lﬁ
HW Set #17
Due: April 27,2006 B /—{ame /}é’ ﬁ,é’ (Z)})J
wlg: Version 2 Print (last first)

Use engineering paper. Work only on one side of the paper. Use this sheet as your coggheet placed
on top of your work and stapled in the top left-hand corner. Number the problems at the top of the
page, in the center of the sheet. Do neat work. Underline your answers. Show how you got your
equations. Be sure to show how you got your answers. Each problem counts 10 points.

13.37

13.41

13.46 (a) [,=1.072£5.88° A, 1,=0.536£185.9° A
(b) [=0.625225° A, L,=0.3125425° A

13.52 n=05 P=90W

13.62 (a) S=103£11.85° VA

(b) p = 4244 W
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4/24/06 12:32 PM

MATLAB Command Window

Page 1

>> prob_13_ 46
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C:\MATLAB6pS5\work\prob 13 46.m Page 1
April 24, 2006 12:32:29 PM

% Solving simultaneous equations 4th order complex coefficients
program name: prob 13 46.m

e
I

[2 -100; 0012; -1,0 10+i*16, 0; 0 -1 0 12-i*8]
[0;0;8+i%13.86;-8.66-1*5]
S = inv (A)*B
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